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Instructions for Candidates :

1.
2.

This exam is in two parts.

Part - L is related to Mental Ability Test which consists
of 100 questions.

Part - Il relates to Scholastic Aptitude Test which con-
sists of 100 questions relating to three subjects listed
below:

(1) Science

(i) Mathematics

(iii) Social Studies

Each question carries one mark. All questions are com-

pulsory.

You have been provided with an answer sheet (OMR)

for this question paper. Darken the correct option of
each question in the answer sheet (OMR} with black/

blue ball pen.

Rough work may be done on the blank space provlded

for this purpose.

7. There is no negative marking in the test
8. Do not use white fluid on OMR (Answer Sheet)
9. Half an hour extra should be given to Visually

handicapped candidates only.

Max. Marks : 200
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Mentsal Ability ' Hafra dargT

Directions: (1-8) - There is 2 number series following fzaew : (1-8) &3t aret wat & BT-ﬁ g
a pattern. One place isleft blank. Find the correct »run f¥w fakt Ity &% #ifeg %) yrat g

answer from given options: et ot ST St S 83—
1. 6564,60,51,35,__ | 1. 65,64,60,51,35 ...
) 15 (2) 10 Mm 15 @ 1
(3 20  #)25 : B3 0 @ 2
2. 516,51, 158, : 2. 5,16,51, 158,
(1) 47 (2)478 1y 41 - (2 48
(3) 481 (4483 (3 48 - @ A
3. 2,1,4,3,6,5,8, _ 3. 2,1,4,3,6,5,8, e '
(1) 9 (2) 10 n 9 R 10
| 1) 7 @ 1
@ 7 @11 3 @
4. 1,2, 10, 3-? 101, - 4, 1,2,10,37,101,
1 215 (2218 (1 215 @ 218
_ 3 226 @) 229
3 226 (4)229
5. 2.6.30,60, 130, 5. 2,6,30,60,130, .o
() 180 (2) 200 (1) 180 @ 20
(3) 210 @) 230
3 210 (4)230
6. 28, 34,35, 37, 41, 6. 28, 34, 35,37, 41, ..cccrnen.
(1) 46 (2)49 () 46 ) 49
O (4) 44 G £ @ «
7. 4,10,28, 244,730 7 4,10,28, .. 244,730
n 8 (2)90 (1) 88 @ %
(3 82 47 (3) 82 @4 T8

g 23,571, 5. 235711
0] 12 ()14 1 12 @) 14
3 16 (413 3) 16 (4)13
Directions (9-11) - The letters follow a definite fad@w® : (9-11) &3 & nug f¥a fsmfez v
pattern. Find the missing letters to complete the IyT WEHT TS| foat gu 3y § yor ¥95 S

pattern. AIt feamu st 9 a9

9. _aa_ba_bb_ab_aab 9. _aa_ba bb_ab_aab
1) aaabb 2) babab 1) aaabb 2) babab
3) bbaab 4) baabb 3) bbaab 4) baabb



10.2_5_114_3 2_5 |

(1} 354321 (2) 123452
(3) 345234 (4) 542341
11.c_bba_cab_ac ab_ac
{1} bebac (2) cabch
(3) acche {4) acbed
12.1f PAINT =74128, EXCEL =93596 then ACCEPT=?
(1) 455978 (2) 459578
(3) 457958 (4)459758

13.1f HANDWASH =225, SANETIZER=81 then
VITAMINCD =7

(1) 196 (2)256
(3) 324 {4) 169
14, A boy who was born on 29 FebruarylS%, when did
he celebrated his first birthday?
(1) 29" February 1897
(2) 29" February 1900
(3) 29° February 1904
{4) 29" February 1908
15. What was the day of week on 9% Qctober 19447
(1) Friday (2) Sunday
(3) Tuesday (4) Monday

Direction: Using the relation between the items
which of the following is most suitable diagram
(16-18)

lensOk
O
(1) (2) ) 4)
16. Flowers , Clothes , Red
17. Mountains , Sea , Island
18. Earth , Forest, Mountain
Directions: (19-22) — Developing relationship among
items on the left side of sign

on the right side of :
options

1t find relationship
: by choosing from given

19. Contamination : food : : infection :?
(1) Germs (2) Disease
(3) Body (4) Microbes

10.2.5_114.3 2 5 1

(1) 354321 (2) 123452
(3) 345234 (4)542341
1. c_bba_cab ac_ab ac-
(1) bebac (2) cabch
(3} acchbe (4) acbed _
12 if PAINT =74128, EXCEL =93596 then ACCEPT=?
(1) 455978 (2) 459578
(3)457958 (4)459758 .

13. If HANDWASH =225, SANETIZER=8! then
VITAMINCD =?

(1) 196
(3)324

(2) 256
(4) 169

14. FE B33 29 Towat 1896 § der Tfour st
O wuzr ufasT mavfes a2 watdfour w7

()  29egedt 1897
(2) 29 TgEdt 1900
(3) 29 gg=at 1904
(49) 29 &d=dr 1908

15. 9 WagET 1944 § 0o = faumr fos Hi 7
(1) Hased 2) #HI=TT
(3) INwET (4) FHET
feadn . wagyr &9 A97 marfyg oo o fx
Yyas {16-18) f&Fg farer gast fiae fagsr

90O

(1) 2y
16. §%, 3uF, 58

17. W3, Afe9, oY

18. uast, A9, WU

fsgdm : (19-22) f&3 ymst f¥w & 49 v
B IAGA F9 A%y Aafue Fed fomrs: &
H U Isbrt eRgwt f$9 €/ Igt e g8y
ez q9s #et Adt feasy o 5= a5

19. 2Rz F9s - fragwg 7
(1) dters (2)

(3) wal 4)

fanmat
HHHHTE



20. Arc: Circle : : line:?

(1) Point {2) Rectangle

(3) Elhpse (4) Sphere
21.85:40::77:7 |

() 4 - (2)48

(3) 49 (4)50
22.8:32::107

(1) 42 (2) 50

3) 4 {4) 60

Directions(23-25) — Cube of edge 12¢m is pamted
on all of its faces and then divided into n_umber of
cubes each of edge 2cm, based on this answer

the following questions :
23. How many cubes have only two faces painted?

(1) 48 (2) 56
3) &4 4 8
24. How many cubes have no face painted? -
(1) 56 (2)48
3) % (4) 64
25. How many cubes have at least two faces painted?
{1) 56 (2)48
(3) 9% {4) 64

Directions(26-30) — find the missing item that will

come in place of question mark?

26.

20.

21.

22.

U Tdg Ut ?

(n fag () wrfeg
(3) fefoum 4 &5
85:40::77:7

m 4 o =
3) 49 (4 50
§:32:107

1 4 @ 50
3 4 4 60

fagem : (2325 BT 12 M fasd eB ws § 979
wfn»r‘ré‘%ara’rafﬁmrﬁlﬁw?jszam%eﬁ;w
&g 2fmr farar ¥ | ferd mrovfag yaast @ §39 fe€

23,

ﬁ%wm_ﬁ#%%mﬁﬁmwma‘l

(1) 48 ) 56
3 6 @ 8
24, f&% we Is, fAar e @@t ww T ST a5t 37
(L 56 @ 48 '
(3) 96 4 &
25, %rswmhwawmvwﬁqwé‘am
stgr femr 37 :
(H 56 () 48 .
(3) 96 4) o4
fxgam: (26- 30)mhw%m§mﬁhaw€r
JT T
26. 84 81 88
14f12] | 1819 | |2 M
(1 16 _ 2 21
(3) A @4 22

B R

aa| {81 88
1412 | 189 21
(1 16 @ 2
3y 24 (4) 22
(1) 760

(3) 873 (4) 607

(3) 875 (4) 607



28,
1 | 2¢4]5
31?217
5 | B9

1 a2 @ 4
(3) 46 4y 48
2.
(1 8 @ 10
3 14 @ 16
30. a3 lca lFl?
Hs 1J6 .| 9
P8 w9 lmz
(1) M42 (2)M4s
(3) Né64 (4 M33

Directions (31-33) — Following questions are based
upon multiplication. Each letter has unique value
and for unique value, there is a unique letter.

AMD
XDA
MPR
| +IMS X
31. Valweofa BPSR
1 s SR @)3
(32 48
32. Value of P
(1) 8 )7
(3)0 43

28.

29.

30.

1 | 415
31?217
S 1|9
m @ @ “
@ 4 @ 8

21

(n 8 2 10
3) 14 4 16
[ases |7
H5 [J6 | 9
P8 [ro ur2|
n Mz - 2) M4 o
(3) Ne4 @ M3

fogom (31—33)“&3?1’%@@3‘@?»@&3&3@?
yg €t frg Ftahia & » i ot i w8t et g

di

31.

32.

AMD
xDA
MPR
+JM S x
BPSR
ATt dg
(n 5 2
3y 2 4 8
P <t stz
({Hn 3 2)

3 0 @ 3



33, Value of B. e
(7. )8

Directions (34-35) — Find correct group of signs to
solve the equatlon. _

34, 24*34*2*5*12
2) +

+=.—

(1) +ex=
@) =++- @) =+-+
B.704%8%2424
hx=st @ 4-=x
it oy K

36.A person is facing northwest. He turns-90° in

the clock wise direction and then: turns

~180%nticlockwise direction and now turns 90°

~ in.the same direction. In which direction is he

~ facing now?. | ' ' "
(1) Southwest. -

(3) South East

co(2)West .

@ South -

37.A and B-start walkmg from a point in opposite
directions. A covers 3km and B covers 4km, then
A turns right and walks 4 km while B turns left

and walks 3km, How far is each ﬁ'om the startmg
point? '

(1) 4km,5km  (2)5km, Skm :
38. What will be the angle between the hour hand and the

rnmute hand of a clock when the time is 3 27,

58— 47—
@ 287 @45

(@) &° (4)57°
39.In a chéss tournament each of séven players will play
with every other player exactly once. How many
* matches will be played during the tournament?
1y 12 (2) 14

3 21 4)18

33, BEtaEvg
). 7 2y - 8
3 3 4 3
faadw : (34-35) mﬁm 3% g9 m’r afeaa

f-e'zrre*zﬂarmmy

34, 24*34*2»5%12

(1) %= @ ++=-
(@) =++- @) =+—+
35, TH4*B%2%24
. _._(1):x=+_+. (2)+-=X
3 x=+- (@) % ++=

36. fog fem@dt v e <5 9y faor 41 Qo w=t
Yu ot fonur f& 900 inier 3 w3 foo G wdt
ot @we four f&9 180° iprer I feT 90
@ﬁ‘a”rhmfévm@mazetrfmfewﬁéﬂ
étrfawar?
SyE-iEw () UeH
(3) Sye-ydg @ - =t

37. AwT B fix fiyy T @ve fewret T SBT By
F9< T5 | A, 3km %3 B, 4Km wer J1 fem §
goE A B HEE 4km w2 B ¥9 U= & 3km
¥wer 71 §0 99 vy wrafaa fag 3 fast

o

g I T5?

(1) 4k, Skm (2) 5 km, Skm

(3) 10km,dkm  (4)8km, 4km

38. 3 27 TW weh & difout I HEt wiI Tt
=75t get fE&w fasT d< g<ar?
| ) . o

(1) 581— @ 475
(3) 60 4 57

39. . faana%ﬂgaﬁ'ﬂzi%vﬁuavwaaﬁaw
fygvat & fog ot AT dser ¥ 97 gaae

fgdnfad i ud Arar ?
M 12 Q) 14
(3) 21 @ 18



40. A mirror is placed in front of the clock, the clock shows
time 5:40. What time will be of its reflection in the
mirror?
(1) 440
(3) 620

(2)6:40

@)7:20

41. How many numbers from 3 to 90 are there each of which
is exactly divisible by 4 and also its one of digit as 4?
(1 21 (2) 10 '
3y 20 @7 _

42. Anyj is twelth from the right and fifth from the left in a
line of boys. How many boys should be added to the
line such that there may be 30 boys in a line.
(1) 18 (2) 14
3 15 (4)12

Directions (43-45) ~ A is son of B. B’s sister C has a
son D and a daughter E. F is the maternal uncle
of D. Based on above information answer
questions (43-45)

43. How is A related to D?

(1) Nephew {2) cousin

{3) Uncle (4) brother
44. How many nephews does F have?

(1) None )3

(3 1 (4)2
45. How is E related to F?

(1) wife (2) Sister

(3) Niece (4) Daughter

46. In a certain code, BEAT is written as YVZG then
what will be the code of MILLD?

(1) ONRW (2) ONWR
(3) NROW {4) NOWR

47. HREASON is coded as 5 and BELIEVED as 7 then
what is a code for GOVERNMENT?

(1 8 ) 10

3 9 () 6

40, o €= wF & monE st Sfaewr 31 Faw
Wt 3 5:40 T ANT I It RtE ¥ fene ySife
3 & At ferar ?
(1) 4:40
(3 6:20

6:40
7:20

@
(4)

41, 39 90 fegarg wfRT faatnt ffimrer a5 7 4

2 TG & w3 Qust T i e 4 < 324
() 2r 2 10
(3) 20 @) 7

42. MEH Hfsw &t gaw &9 i1F v 128 wa
8 UG s& mers 3 5 i fen oo fiw 59 S
Hs WA It T II9 Fe dw 30 g T Ave )
0y 16 2 14
(3) 15 49 12

foeem: (43-45)A,Borixw §, Bet S Cor ¥ dt
Q?HD”@@HQBETE%IF,DFW&I@EW@W

& waw 3 ywat & G399 IF

43. AT DIT A famar I?

) g3\ () wEIT I
(3) MW 4 gar
44, Fv (&8 s3I @@= 957
(H a=t st @ 3
(3) 1 (4)
45. ETF&® ot famar 7
(1 uzst 2 3=
3y eI (@A) 4 U9t

46. fanr faufes dw &9, BEAT & YVIG fafiour
AT § 3t MILD § 8w &% f¥u fa2 fofinr
A= ?

() ONRW 2)
(3) NROW (4)

47. + fo &% f&9 REASON § 5 w3 BELIEVED
& 7 fefunm ater § 37 @F a7 f3g

GOVERNMENT & fa=* fsfir arar?

(1) 8 2 10

3 9 @ 6

ONWR
NOWR



48, If sky is called sea, sea is called water, water is called  48.  H FHS & A, Aol § uiat, uEt § o,

air , air is called cloud, cloud is called river then what a&r § ¥ow w3 gew § efer faar e g
we drink when thirsty ? fipme Fare 3wt ot Wi=iaT ?

(1) Sky (2) Water (1) WS @ et

(3) Air (4) Sea (3 T (4) A

49. fan fanfes &7 <9
“Where are you’ é ‘pit ka ta’
‘ Are they there’ & ‘sa da ka’
‘They may come’ & ‘da na ja’

49, If in a certain code : .
‘Where are you’ ‘written as ‘pitkata’ -
‘Are they there® written as ‘sa da ka’

“They may Come’ written as ‘da na ja’ Frfemir AT 3 I QR &7 FET there {73 fofipr
Then how ° there will be written in that language? AT g

(1) da (2) sa (1 ~ da (2) sa

(3) ka 4ta (3) ka 4 ta

Divections (50-53) — Read {he information carefully fsov# : ot f&3t Areaat § um T YAS (50-
and answer questions (50-53). Six persons are 53) ¥ €399 fe€@ 1 & yrant feg da9 @9 2%
sitting in a circle, A is facing B. B s to the right of T&1 AB &% HT Faq 857 F1 B.E & AW UH S
¥ and leftof C. Cis tothe leftof D. Fistotheright C¥ ¥ v §1C, DT §¥F UA JIF AT -
of A. Now D exchanges his seat with ¥ and E W& 1 IZ D »3 F, E »F B »nu <9 Ale 725
exchanges with B. 3F I3

[ [P f) . Y [y EY
50. Who will be sitting to the left of D? s0. D& ¥ wit 3= o i

(1) B @F 1 B @ F

(3 E HA 3y E @4 A
51. Who will be sitting to the left of C? 51, CEYFyR I G §?

(1) E (2)F () E (2) F

(3) A (4)B | (3) 1'4 4 B

i jtti i ? = =~ E
52. Who will be sitting opposite t0 A 53 AR & d= dor 37

(Iy E (2)F

(n E @ F
(3) D (4) B ' 3 D (4)
53, Who will be sitting opposite of C? | 53, C @ RHE &< Yo 7
() E (2D () E 2 D
(3 B (4) A 3y B 4 A
54, Which of the following words can be formed from 54, I+ fafipat &3 faosT wEe CORRIGENDUM
CORRIGENDUM? F gizr ¥ 7
(1) ERROR (2) MURDER (1) ERRCR (2 MURDER
(3) DANGER  (4) GENDER (3) DANGER (4) GENDER



Direction : Read the information represents by
Figure and answer the questions(55-58)

1

3

4 /42

A yzan
N

11

In figure, rectangle, square, circle and triangle represents
the regions of wheat gram, maize and rice cultivation
respectively.

55 which area is cultivated by all four crops?

(17 (2)8
39 4)2
56 Which area is cultivated by wheat and maize only?
(18. (2)6
(3)5 (44
57 which area is cultivated by rice only?
a1 (2) 2
3) 5 4 11
58. Which area is cultivated by rice and maize only?
19 )8
(3)2 47

Directions: Study the given information carefully and
answer the questions (59-63).

- Six friends P,Q,R,S,T and U are the members of 2
club and play different games foothall, cricket,
Tennis, Basketball, Badminton and Volleyball.

-T who is taller than P and S, plays tennis.

-The tallest among them plays basketball

-The shortest among them plays volleyball.

-Q and S neither play Volley ball nor Basketball.
-R Plays Vellyball |

-T is between Q whe plays football and P in order of
height.

59. Who among them is taller than R but shorter than P?
Q (U
(3)8 4T

fsgew : f3 39 gomor 931 greaat mis
W3 yust & €99 e (55-58)

3
L
5 /719

6

1Q
11

s Somfes, eaar a9 S f3de PHeT a=y, B,
Hﬁwmﬁwmﬂmﬁewa‘éam

55. fom 439 féw Ao anmt o Qaures g B 7

a 7 @ 3
3 9 4 2
56. faw Gsv (v dew Wt w2 gew or it 37
1 8 () 6
3) 5 4 4

57. faw 439 fév duw vew Uor §@ 57

n 1 @ 2
3 s (4 11
58. faw 439 o s w3 Wt Qor 2 o7
m 9 @ 8
3y 2 4 7

feaew : Jat et Areadt § umd 3 st
2 sl 839 gF 1 (59-63)

-BOAI P, Q,R, S, Tn U fait oy & Yo7 o5 M3
fy-Jv 43 499 5| QU devrs, fyde, Haw,
TeeEs, #Sfies w3 edtes ist de@ U |

-TROSTP M3 S T e fSudam 3, Sfan sor 3
- A9 3 &% dv I8 ggeT dwer |
- A9 T 8¢ dv & TEtes dger ¥
- QM3 S & It THWH MI 3T It AT YST IS |
- REBES dger I
-qummﬁﬁP@ﬁwm
w@er T
59. RIdFEfRTET 3 PT ST I 7

O Q @ U

3 s 4 T



60. Who will be at the second place if they are arranged in

descending order of their heights?

Directions : (64-65) In each of the questions Arrange
the given words in alphabetical order and choose

-the ome that comes last.

64. 1)) Butter @y
3) Button 4

65. {1 Colon @
(3) Colloid 4)

Directions : (66-67) From the given words, select
the words which cannot be formed using the

letters of the given word.
66. DISTRIBUTION :

1 Q AR
3 s @T

61. Who among them.plays basketball?
nae @R
T . 4HU

62. Who among is shortest in height?
(HP 2Q
(3R 4) 8

© 63. Who among them is longest in height?

)T U
3P (4)5

Butler
Butcher
Collective
College

(1) TRUST (2)  SITUATION
(3} TUTION (4)  DISTURB
67. ARTICULATES :
(1) COURTS  (2) LATER
(3) TALES (4)  ARTICLE

68. The six faces of the die have been written with
alphbets A, B, C, D, E and F respectively This die is
rolled down three times as shown in figure. Find the

‘alphabet Opposite to A.
A oA L8/
Uy am I

(1) B
(3 D

@cC
4)E

6l.

62.

63.

# Qust § 93 T §2 du9 yFT AT W 3t

oW AF® 3 d€ mar?
1 Q DR
3 S @7
THICHE & 4FET J 1

M Q 2 R
3 T 4 U
I dvawrdE it
n P @ Q
(3) R 4 S
A3 I ¥E T TEr dT 7
() T 2 U
3 P 4y S

faa@d : (64-65) TIT YAS § WATHl FISHET
wWEAS gH & fad o2 & nruet 929, €nd

gT
64.

65.

(1)  Butter (2)  Butler
(3) Button (4)  Butcher
(1) Colon (2)  Collective
(3)  Colloid (4)  College

fxaew : (66-67) f&FT feamyt f&€5 €T mue
gE 7 3 me € et T hed a4t gfenm T

66.

67.

DISTRIBUTION :

() TRUST @) SIT:%TIOE.
@3) TUTION (4)  DISTURB
ARTICULATES :

(1) COURTS (2)  LATER

(3) TALES (4)  ARTICLE

fai setw & & wit § HoeHE! TN ¥
#uT A, B, C, D, E %3 F &% fafiprr foprr §1
sein & fis @9 Qefeonr faor 31 fae fa
fige &g fowfenr famr

wg A ¥ fasas §ue forr féw faugm g 329 |

(Im (
(h) B 2 C
3 D 4 E



69. Given below are the two different positions of a dice.  69.  Tat FvH Wi @ &y Ty wawgrat IGEiLiy

Find the number of dots on the face opposite to face et 75 | fag 38 & Arove 153 et =
bearing 3 dots? UTHT g2 7? i
mi 26 o @l
3 4 4 s
(3)4 (4)5

70. How many triangles are there in the figure given be- 70. ESfisef fggwt & farest &n ?

low?

a4 @ 12

(1)4 (2)12 3) 16 4 10

(3) 16 410

Directions : (71-72) In each of the following ques- f&3¢W : (71-72) J&* &3 Tiw yms fev fiaq
tions choose the correct water-image of figure (X) (X) & uet € Aot y3ifdy ot 9= a3~
from amongst four given alternatives.
71,

Mm@ (3)

RAY
=
(X)
' v
o o Y 7 <
A > v > o o O™
(1) (2) 3y @) (1) 2 3) @
Directions : (73-75) In each of the following ques- 539w : (73-75) Fat F¥S g3g yus feg 39

tions a part of questions figure is missing. Choose v f¥7 grar 3yz J| FF feasyt f=5° rdt
the correct answer figure to complete the ques- feamy & = a3 fAR &% Aifr g yar T

12.

tion figure that can replace? e
7. {Question Figure) 3 (yns fog9)
? (Answer Figure) ? (37 f¥39)
| | I
AYAYAVAY AYAVAY
6] 2 6 ) 2 36 »

10



74, (Question Figure)

F (Answer Figure)
NN @@\
OO I ) B € N C
75.
(Question Figure)
. {Answer Figure)

?

oo 6 2@

Directions : (76-78) Find the figure from Answer
figures which will continue the series in questions

17
AR

74. (yus f39)

(4)

@)

? (@9 f¥39)
K BRCRAE
/ & -
n @ G
75.
(uws f929)
? @39 1%‘33)
- @ (3)
faady ; fo3 7% f¥ger &9 On figg & S

a5 51 o5 s &9 FII9IT T AT (76-78)

7. 76.
(QuestionﬂFigum) _ - (I{H?; f??»'cl)
!" olo || o]e oo loo .o wo_o. 70
_o_o‘;o||;.||oo _‘_'1_‘_"1;'][. L)
(a) (b) (©) (@ @ ) © @
(AnswerFlgure) (€39 f¥39)
BoiEnixging |« [e [l ala]l]|e]e]
@ @ ®) @ o 7 3) @
77 (Question Figure) 77. (s =)
@) ®  © (@) ®»  © @
(Answer Figure) @{Eﬁﬁ?ﬁ)
I| Il o 0 @

G @
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78.  {(Question Figure) 78. (s f¥39)
. X A | . X A
® X XA ||a2 |l2s ! & X |IXA [|laz |l2s |
(@) (b) (© (d) (@) (b) () (d
- (Answer Figure) CELRTES)) '
e X Ao XAl[e XAlle XA e XAl X Al[e XAllo XA
Y 2 5 ? 2 Y 2 s ? 2
's ? lisy s i s > sy |ls v
) (2) 3 @ (1) 2) 3 @
Directions : (79-81) Find the different from others. fxgom: %afaaéuéﬁ'aaz“r (79-81)
79, - : | R o
: ‘ 79. - .
BRI “» O ® @
80. | 80. |
(1) o) 3) (@) (1) ) (3 @
£1. 81.
(1N RN 0 I ‘ !{ |l
1) (2) (3) (4) (1) 2 3 (4)

Directions : (82-84) In each of the following questions
there are three figures X, Y and Z showing a sequence
of folding a piece of paper. Figure Z shows the manner
in which the folded paper has been cut. These figures
are followed by four other figures from which you

fsgew . (82-84) I5+ ¥F w37 yus v f3s
R X, Y3 z dyg & st Jadta § fewr
T 75| 39 2 warw duw § dfowr wer §)
f&3 feasyt &9 @5 feasy =t 9= a7 &
59 Z € dee 3 gue @A & gy & wowder

have to choose a figure which would most closely F< |
resemble the unfolded form of figure (Z). 82
82.
(AN Y
- ;
‘I’ | X Y "2
AR | ' Calon
o e &
g \o[/ '
| (1) (2) (3 4
1) 4

12



83.
P Qg

84. “(l) @ ® @
X Y Z |
.oo' E
(1) 2 E @

Directions : (85-86) In each of the following
questions, Find the figure, out of the answer
_ figures that can be formed by joining the pieces
given in questlon figure

@

8.

;?;:rf;"“ (Answer Figure)

% n @ 3 @

{:?;flf)i‘m (Answer Figure)
VAN 2V

%A% BB %ﬂ
M OINE) @

Directions : (37-88) Keeping in mind that the state-
ments given to be true even if they are variant
from common known facts. Based on the state-
ments, answer the questions?

87. Statements :

All candles are boxes
All boxes are pens
Conclusion

(D) All pens are candles
(IIy All candles are pens

(1) If conclusion I Follows

(2) If conclusion II follows

(3) If both conclusions follows

{4) Either conclusions L or II follows

; @) /
) (2) (3) 4
84—
A B
X

B EZE_! I

Q) (2) (3 4
fsgew : (85-86) &vh@mmﬁei‘-&?
fegaut f=F &7 fegsy et ¥ a9 & YFs
f¥gv f¥v 3 gafort & A3 3 afewr 991

1 o

85. B
gg) &z7 f§=9)
N Q) 3) @
g6, (YHS
fo=9) (@37 =)
&) | DY o AN R

%@J DD

| mn @ 6 @
fxgow : (87-88) fow AU 7% fg f¥F a5 3

95 T @9 »w Heet 3 s 95 fest 3
wrutfag yast © €39 feg
87. dHS :
AT WHEST fie] 95
Fd frgd O 95
fier
() 79 U5 WESh g8
(1) At IS U O
1.7 fer sl @
2. afferusiaa
3.9 96 fAe st 9%
4. fiter 1 At firer 10 st 31
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88. Statements
All fans are watches
Some watches are black
Conclusion
(I} All watches are fang
(IT) All fans are black
(1) If conclusion 1 Follows
(2) If conclusion 11 foliows
(3) If both conclusions follows
(4) Neither conclusions I nor T follows
89. A printer number the pages of a book starting with 1
and uses 3189 digits in all. How many pages does the
book have?
{1) 1000 (2)1079
(3)1078 431074
90. In a group of cows and hens, the number of legs are
14 more than twice the number of heads, find the num-
ber of cows.
{1 s @ 7
(3) 10 {4) 12
Directions : (91-94) All the roads of a village are either
parallel or perpendicular to one another and are all straight
roads, Roads Parallel to one another are A,B, C,D,E.

Roads G H, L, J, K, L, M are parallel to one another.
1. Road A,is 1 km East of B

1
. Road B, is 5 km West of C

3. Road D, is 1 km West of E

[ %]

1
4 Road G is E km South of H

5. Road Iis 1 km North of J

| _
6. Road K is E km North of L

7. Road K is 1 km South of M

91. Which is necessarily true
(1) Dis 2 km west of B
{(2)Mis 1.5 kmnorth of L
(3) E and B intersect
(4)1is 1 km north of L.

88. dg&

g Y wabdt 75

3% =t &8 AT St a5

fier .

(1) =yt wabnt 1% o8

() YUY g% 39 & a5
1. % fier18lm &
2.7 fherusta &
3.HOs e slg om
4. " 3t fiier I3 & ot fifer 11 317 31
89. Rafasusuafig fagwedw § 13wy
ader I 3 IH 3189 Yat § Tager 71 € fagw fag
% fad U Jar?

(1) 1000 )
(3) 1078 (4)
90. I W yaaitnt € fiw §7 (&9 &3 <t faredt
fagt &t forest € word@ 3 14 U 3 grer &t
farsat &)

ny s @ 7

3y 10 @ 12
faedm : (91-94) foq firg Tt rEaT At feg oo 3 &9
It f¥a g @ ANTge 05 W 9 o &9 95 W Ardbat
Aaat fdts 9% | fEer g7 © AMigT AgaT A, B, C, D, E
5 | AEE G|, L ), K, L, M féa ge @ antaa &
1.AST A,BS 1kmysg & J

1079
1074

1
2.A3d B, C T 5 faut. ey =% ¢
3. AT D,ET 1 famt. iew =5
1 ' .
4.FISE'G,H§‘E fayt. cuzewd
5. LIT 1 fat. §s9=xd

1 .
6.HE"Q'K,L§"5 fasxt oo e

7. R K, M3 1 fart. duve 2@ @
91. faoz Agdt AT T

(1) D,BE2faMt.llenssd
2y MLIF15faHt. @zassd
(3) Ewa B fea gn § deetmtas
4 LLTF1fadt.gse<83d
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92U road B85 betvéeh B and C, then dlstance between
oARTERLS TR TR T el ot e
e T ) i sEt B v
(3) 1.5-2km (4) 172 km

93. m&h@iﬂl«m PS&SlbW@ake twp roads
co?ncmle'? -

___ r f #-u_ ’
(‘i F “ld B “;e.,_‘p__‘“‘h“ apart < C 0 Lo

= o
(2)Dis 5 km east of A

(3)L§s Eﬁmﬁmrmf

..—)_‘?,_51—3 Tl

(1) D is 2 km west ofA
() Dis less than 1 lcm from B
@S\léss thag 1 ki f ﬁ'om%A"’

{«'4). lSlCSS than i S‘kn‘lfromD

Directions : (95-96) In each of the following questions,
there is a figure (X) with two dots placed in it. This
figure is followed by four other figures. Only one of
which is such as to make possible the placement of
the dots satisfying the same conditions as in figure

(X). Choose the correct answer figure in each case.
95.
X
D b
e R 7
(1) (2)
96.
X}
—
s\llloNIeAIS;

) 2 3) (4)

92. ssWWE,BMfQ'CW%?hW B
fi‘ﬂ?ﬁaﬁ% A BT RLITIT SE T IR T
;?'i:.?:f(l)" ¢ Tkme i {2}‘ o] Flame Bin e
g3y o1 2dkm oo fi%[f-ﬁ)’ ----- gl /2kamraoh ke

93.

94, ﬁTﬁI'”E B»@C%’fewaﬁ#&rw’%%

Goalt o ot oed VY

i e e A
() DAF2 faﬁ‘ﬁwwﬁ srod il
(3) EA?B‘I c N ,‘;i:ggﬁrga

”-_'(4_) CD?‘lsﬁa'}ﬁé‘wé‘@a”rga:(

S

s.; __
o ]

fagem: (95— 96)33*&43333%1%?@ ﬁ'l?mi“rz‘rir
miﬁﬂewﬁgwﬁawﬁﬁfnﬁfeamﬁw
3 1B s i fige & i § QR dtosa e

FarfoT AT AAET 9= | '

05,

=7

X)

D & L o
(1) (2) 3) (4)
96.

) @ 3 (4)
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Directions : (97-98) In each of the following ques- f&aSw : (97-98) Jo+ frg T Yy &9 g
tions out of 4 figures, three are similar in a certain f¥ggt f¥F 5 fiyag fan It 575 5 fag
way and one is not like others. Find out the figure & w3 fity f¥397 fegat T 4 &1 Fyar gz
which does not belong to the other three figures. &3 |

97.

98.

1) (2) (3) 4 1) 2) 3) 4)
99. When the given figure is converted to cube then which  99. 7% &3 ¥ firgg g us &g g
will be the correct alternative. 3t ooz feamu wat fito 529

F| F '
T DD DD = DF D
5 PP B s P ol
C|D 0 I V)] (3 4) C/D 0 @ 3) “4)
(1) AOnly (2) B only (1}3=m A (2)3d=% B
(3)Aand C (49 A,B,Cand D AMIC (A B CH2 D
100. How many Rectangles (excluding Square) are there 100. 939 f¥g Togr 3 ﬁa‘qr fad mfez g5 7
in the given figure? '
(;) ;3 2) 2; 19 2 23
() 2 _ 3y 20 @ n
SCHOLASTIC APTITUDE TEST fefmr &t Gerar
101.The ratio of the effective resistance between the 101. &3 3% ruae fw &+t K, 48t qye w3 gore
terminals A and B of the given circuit with key K open <9 &t 4o w95 3 A3 B »3 fewarg EL)
and then k, closed is given by yf39ar & wigurg 329r |
A K,
8Q A 60
2Q 1202
B B
() 11 ) 4:3 M  1:1 (2) 4:3
3 21 @) 2:3 3 2:1 4 2:3
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102. Which of the following statement is correct 7
(1) A person with Myopia can see distant object clearly

(2) The eyes must be removed within 10-15 hours after
the death of eye donor

(3) Cataract is the condition of eye when the crystalline
lens of some old age people become milky and cloudy

(4) A student sitting in the last row of classroom cannot
read clearly the letiers written on black board due to
Hyper metropia.

103. The distance travelled by a body in last two seconds
of its motion in straight line is what fraction of the total
distance covered in 7 seconds in the given velocity time

graph.
10
K:
a6
T§4
3
S 2
T 2 3 4 5 6 7

Time (s)—

y = y

m 7 ® 3

! 4 1

G 3 @ 3

104. A Body has a negative charge of 1 £¢ . It means the
body has gained
(1) One electron
(2) 106 electrons
(3) 6.25x10™ electrons
(4) 6.25x10* electrons.

105. Which of the following graphs best represent the
graphical relationship between Kinetic Energy (K.E)
and momentum (P) of a body in motion?

V)

= KE —KE —KE —KE
(M {2} (3) 4)

102. Ja7 &3 guat &5 faasr as wgt
(1) foae fonet €n aas WY ga &mit SRaT
AT &Y AaeT J|
(2) #yt T Fes €8 fewmst Stz &
¥E 10-15 difenr &9 iyt @ 8ot
gttt 95|
(3) T fire €9 Afast & 7 €33t e
& gy fowadvt er 390 8'F gubwr w3
frewT § AteT 31
@) . fear fefonrat g9 fowet 87 ads Arg
&t mitest geT feg o & B Tog 3
fsd »pEt § WrE Bt Jw wwEr
103. &3 3¢ 9wt e 9 @ng v mdled
2 Rfgw f&a 3w St aret gat, g evar 7
ifgst fiv gs Iwdist gt o s o 529

10
8
:3_"6
Tr|34
2
1 2 3 4 5 6 7

4T (5) —

D < y =

m 5 ® 3

1 . L

® 3 @ 3

104. fegeag T 1 pc foemaamdifenervang
3 fa eng & o =g fedags gfoe a3 5|
() fexfedags
@ 10t fedags
(3) 625 x 10 feBges
@ 625 x 10 feBaes

105. fai ardhrs <Ag < afsw G9v (KE) Wd
frdar (p) f=u® fiu § foos are At semger

T
P P. :
TI/ TV I’I/ Llj
T —*KE ~+KE —KE -+ K E
1) (2} 3 (4}
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106 Two thm lenses of focal length f‘l and f2 ane il Contact
“aind codxial. Tty power is sarne as poWer of a single

lcns glven by . , S F |
1y f +2f2 oy (2){‘2
f f‘z 2 1'2_{_-\‘__!‘-_

107 A stone is dropped mto ay well wng{ifree water
) surface at depth 44, 1 m. The sp’tash 15 heard 3. 13
" eec a aﬁer the stone _1§‘ df‘op’pecl Fln(?{ thggvelomty of
sound in air (Take g~~9 8 fn/sz) R
"-*‘3-‘(1)339 mes - |
(2)3421/s -
T3y 344, s
(4)341. 2 m/s ;
108. Which of the ﬁ)llowmg st&ement does n?oj describe
the possible cﬁuse of overlo

R — - ,.;u=

gln househﬁiclcucults
(1) Acmdental hike in supply vhltage

i‘" 7

(2) Substant1a1 reductlon of current in the Circuit.

(3) Too many electric appliances connected to a single
socket

(4) Live wire and Neutral wire comes in direct contact

109. Abus of mass 2800 kg is travelling at a speed of 90
ki/h. A Retarding force of 5600N is applied on it for
a distance of 100m. Its velocity reduces to

1) 45km/h (2) 54 km/h
(3) 36 kmv/h (4) 18.4kmvh
110. The refractive index of medium B with respect to
medium A in the given figure s given by
V3
O
1 Medium B
2) 5
NEl o Medium A
(3) > a*
1
Q)] T
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106. € USB BAT foar o & tniger e o famar J oy
= At <t 9w | F, w3 F, fam 6t 98 feast S

o *ﬁ@:ﬁﬁﬁﬁ&@ﬁ'aﬁ&"ﬁﬁé&ﬁﬁ&ﬁ

AL, e
m@’ Tef LT

107. mmgwﬁamwamwam

,,,,, 11 MR Ak Ak MiEs et T+ ed wetam Ueg &
=zaat@a',>étg?i€ AR Fee 3313 R gmie maret
%ﬁﬁ?wﬁ?wﬁq%ﬁw-?@%ms?)
(U. ,3392*“??/%'3

tiinn

"l(‘{ll‘j A1

(4)

108. uﬁzﬁmﬁwﬁamm%ﬂ?ﬁa
Fae § datA fea'fmraqaa?mﬂ'
Targ@er: [/

(1)w#wmﬁa\wwl

(2) mage &9 faaset oo & gy Wiz T
il

(3) = ot mfae %9 593 w9 famset G439
Zarges 3

(4) sfew 377 W3 uvts 39 o g
e g wrés 3

2800 faBary I Tt foq a7 90 fadteanier

e a9 &% 9% a9t I | wae ISt of Guz fonr

fS9 5600N & 9% 100 Hteg €t gt 3 marfour

e I 9w @ 9% we & &t § et

(1)  45km/ (2) 54kmh

(3)  36kmh (4) 184kmh

féz aF fag &9 wipmr B & wrfoms Ass

AU MTa3% WY T29r|

109.

110.




131 -Achlock of wood having mass ] Skg-and dimensions
A0cm x 30em x 20-cm iskept-on atable:top.]t:is made
to lie on thetable top in three: ways with its sides of
dimensions - - o
(a) 400m X 30 cm. (b) 3ocm % 20 cm S

(c}ZOt;mx 40cm.

- wpwillte """""" -

_(1) Max1mum for way (a) e

- ;(2) Mammum for way (b)

(3) Maximum for way ©)
-2 {4)--Same for all thres way\';

112. Figure shows the: magnetic field lines'of a magnetic
- -field. There are three poinits A, B-and-C in this field.
- ~Choose-the correct option regarding field strength.

111. feamét?wlskggﬂwamfaﬁ'eﬂw

W400m><30¢m><20cma?ﬂf8ﬂ'@ﬁ‘5
E"TFIQ"‘@'?!.‘I_’H?!{’W?II

{a) 40 cm % 30 ¢m: (b).. -30.emx.20cm

U ey 20 emxd4dem -

mam&@wﬁa:}mww
- GEam

(1) rrfas&(a)m?naa*%:r

112, ﬁaa@m%wﬂﬁwﬁxﬁw
: féam&wﬁw*?nfengaa’rmféafﬁg
A, BWT C &t yuat e <t yassT it faoer
feamu it 1

£ +¢1)” Maximum at A and mimimum:atB. . o
(2) Maximum at B and minimum at-C
(3) Maximum at C and minimum at:B
(4) Maximum at A and minimum at C.

113. Identical packets aré dropped fromtwo acro. planes one
o -aboveﬂacequatorandotherabovenompolebotharhelght :
) B h. Now g, and g are respectively-the acceleration due to

gmeatthmeplaoes Asmmnngailoondmmstobcsunﬂar
If t, and t, arc respectively the time taken by packets to
reach the surface of earth Then, .
(1) t,>t, because g < g, .
2) 1>t bccause g~ gp
3y t<t, be‘cause g <gp
4) t < t bc‘causc g. 78,
114, The luster ofa metal is tue to
(1) Its high density
(2) Ishigh polishing
(3) Its chenﬁcal'inertneés' L

(4) Presence of free electrons.
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1) fﬁ?A@‘H?E’E‘U,ﬁ?BQ‘HET—IuE
@) fagBI A7 I <m, faig cIng I e
(3) ﬁ?cawgéu fﬁ?Béﬂagw
) ﬁvAana:—rétr fhvcangznﬁz

113, MWH@@?EITUEE’E‘}! @we”ra@a@we"r

H 3 felt fad e W A€ 95 | T g, and g,
WWW%WWWWth
s et &7 Tet ¥ 3% I UGS wE Ko
wwﬁ%wwﬂﬁﬁwfeﬂmﬁﬁﬁ
mfé?ﬁafaﬂmﬁﬁa‘faﬁrmna’raéam
1y >t fa@fag <g,
2 t>tfﬂ€‘fﬁ'g>g,,
G ciofegfTe <,
@ <y fagfag >g

114. T T o9 It T, femer @ 3-

() ©Enst T uweT

() gmet e uisw L

3) Snet awfefea GerdisaT

4) a3 (EIe) fedagat < igedt T3



115. Copper sulphate can be safely kept in a container
 made up of
(1) Aluminum 2)
(3) Silver @
116.Two atoms are said to be iso bars if

(1)

Lead
Zine

They have same atomic number but different
mass number

(2)  They have same number of protons but
different number of neutrons

(3)  They have same number of neutrons but
different number of protons and electrons
(4)

Sum of number of protons and neutrons are

same but number of protons is different

117. The Visible universe is estimated to contain 1022 stars,
How many moles of stars are present in the visible
universe
(1) 102 mols
(3) 0.0166 mois

6.023 % 10'mols
6.022 mols

@
G

118. Which set of given elements A, B, C, D, E with atomic
number. 1, 3,7, 10, 11 belongs to same period and same
group, respectively. |
(1) ABCandB,CD

- (2) BCEandABE
(3) B.C.DandAB.E
(4) C,DEandAB,C

119. The foliowing compound 1 and 2 with identical
molecular formula but different structures are called.,

2. Isobutane CH,

(1Y Homologus Series
(2) Unsaturated Hydrocarbon
(3) Structural isomer

(4) Functional isomer -

115,

116.

117,

118.

119,

VT HEee T U § foan o3 @ 58 mus oo

Adfir Ifinrr 7 FaeT §1
() Aplet @2) 3w
3y fAs=g 4 fiar

e U § miefad fagr Aer 51 A

(1) 8T8 & weHT WT WTE yT UIHTE
U v s 32|

(2) €vsT f&9 Jzrat ot farest mrs uw
fs@est &t faest wmms 721

(3) €95t f¥w fs@ewt ot faest Ars ug
rerst 3 fedaest et faest mmrs
=i :

(4) 9T feu (et 3 fszat o fiw AN 5
W et & fest vmis 52

fevedtar gfairs feg wzwisz 102 o5 g3

ﬁuaﬁarqfaﬁzféva*ﬁw%%?}imﬁg?

5

() @ 6.023x10'HT

(3) (4) 6.02H®

A, B, C,D, E 33, fagt e qvers yawe 4 1,

3,7,10, 113, fevat feg* St er favmr e ey
fear 7t Wlabtnw 3 foxr ot agv &% #i7 Suer 3

102 ¥%
0.0166 H®

(I}  ABCwTB,CD,
(2) B,C,E, M2 A,B,E,
(3) B,C,D,%J A,B,E,
(4) C,D,Em3 A,B,C,

ﬁa%@m‘rw@z%mm&‘rgﬁaﬁw
IS 7 q995 B3t & gE39 Sy-Fy 75

feoat § &t afgw g1
H H H I;I
H-C-(IZ:-C-C-H
H H HH
1. 78835 CH,
) H OROH
H-C- C-C-H
Z.WE“lﬁf&Q??;CdeH CH. H
(1) mugt B3t
(2) »Af3uz oeissaass
(3) T=3IG meiEE
4) fafowave mpime
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120. An element X form an oxide X, O,. In which group
of Mendileev's periodic table, is this element X

(1) Gropu i1 (2) Group V
(3) Group III (4) Group VIII
121. In the reaction 3MnO,+4Al — 3Mn+2AL,0, the
oxidising agent is
{1) MnO, (2)Al
(3) ALO, (4) Mn

122. Which of the following is keton functional group.
R=(-CH,},R s Alky! group
; (1) Rie.
i R,C =0

@ -C-OH

3 -¢-H
0
) S i
| -C-OH
123. Convert 20 gm of water into moles.
(1) 2 moles (2) 3 moles
(3) 1.5 moles {(4) 1.11 moles

124. The metals which can form amphoteric oxides with
oxygen are.

(1) Sodium and Aluminium
(2) Zinc and Potassium
(3) Calcium and Sodium
(4) Aluminium and Zine

125. An element X forms two oxides XO and XO,. The
; oxide XO is neutral but X0, is acidic in nature. The
' element X is most likely to be

(1) Sulphur {2) Carbon
(3)Calcium {4) Hydrogen
126. Which of the following does not undergo sublimation?
(1) Camphor (2) Silica
(3) Dry ice {4) lodine

21

120. ¥3 X fa nranrels X, 0,58 T RT3
fzdie o wregst woet (¥ faud oy e
o faom 1

() @dgun () IV
(¢) dguI - (4 FgV VI
121. Jo fedt arrfefea fafen (93 MO+ 4A1 53
Mn+2ALO, Wrasitarad (Oxidising agent) faga 3|
(1) MnO, 2y Al
(3  ALO, 4y Mn
122. 35 fefipnt fed fagsr ates fafemrsia mw
§'eam§*?‘z‘r|R=(-CH3),Rzﬁmrfwa@ual
() Rec.
R,CO
(2) —c::-OH
Q
(3) -C-H
0
) _¢-oH
123. 20g WEt § HE (ST 58
(1) 2HB (2) IHS
(3) 15HS 4 111H®
124. €T gt a waRtE 57 fafen gad sgefad
wrIEtE SEEEorHt IF |
(1)  FEwI A
) faa S Terdon
(3)  EwHbm T AE
@) HEiET w3 i
125. ¥ X & wares X0 w3 X0, ¥=Tger I1X0
maRElE §EHE § ug X0, A weATEy
¥ 33 X feast f&v fagsT 31
(1) Ha=d (2) TS
(3)  ASHPH (4) TEFIAS
126. 35 fahpsr f=5 fagar d9e @@ fafor &

&aF GRTgE|
(1 @ (2)

frstar

(3) H&t gIE @ wie@sts



127 Guard ¢ells are capable ﬁf photosynthesn—s -because
Siitheybave . o e :

(1) Cytoplasm , nucleus, centrioles -

(2) Cytoplasm, micleus, centrosome

(3) - Cytoplasm , nucleus, chloroplasts

< ~(4) “ Cytoplasm; fiucleus; ¢hromitosomes

28 BNA is found in nucleus of cell and —
(1) Golgibodies
(2) Lysosomes \ . :

| (3) Vdcuoles S e
Ay “Mitochondria :

129. Aand B are the two reproductive organs of females.
A is responsible for nourishment of the developing
embryo and B is where sperms encoumer egg, A and
B respectively are :-

{1} Vagina and uterus

(2) Ovary and fallopian tube
{3) Fallopian tube and uterus
(4} Uterus and fallopian tube

130. Which of the followmg dlsease isnot cased by virus?
(1) Dengue o '

{2) T.B-('?I”uberculosis)
(3) Lough
(4) Aids

3T Whlch of the followmg tlssue glvcs tensﬂc strength
against bending and swaymg‘? '
(1) Parenchyma = R
(2) Colleuchyma SR
(3) Scleren chyma |
(4) None of thess.

132. Double fertilization is characteristic of
(L) Anngperms L
(g) Gymnuspenns
(3) Bryophytes
4 Pteridophytes

133. Study by Mendal did not take i mto consnderanon which
of the following characteristics of garden pea.

(1} Shape of flower .
(2) Colour of flower
{(3) Shape of seed
(4) Color of seed

22

127. mmmmwm@mfa@fa
Ceram I -
() A% ge, &9q, izdSs
@ A% g=, aTe, Negy _
(3) A T=, dvad, aBTusTHe
(4) ' Ro o=, 9w, AT

128. a’t.ﬁw%ﬁ?;?maw._. ....... ﬁ‘a EJ'E"'UI
(1)  arsAr arfewr=t
(2) =Ry
(3)  IAUEPyT
4)  WEaEET

129. A3 B =T UHeH Y8 & T #ar 351 AT
9 FFT O URT IT57 & W B T gagE wE
378 TATE U5 | AT B T W I5-

() @atw=z et

(2) WM wiE =St

(3) T =HoSt mF Fgust

(4)  H9EEt w3 i 2 foet

130. ﬁw&vhaa?fawﬁfémwm’r

EE."T?

I T (2 Jrst

3 wd. @ Ew
131. J3° fafent &9 fagar feg Ufent féw saar

S FUBYS @ FE T Fger 7

(1)  UnEsaetyr

(2) TBIITHT

(3) FoBIsETHNT

4) gEtdtad :
132. 999 589 fam o a1z

() »tSAuET

@ fadmwm

(3) anEQETe’mr_

(4 HlFwEe o
133. N8 Tomar wifils feu weo @ O & foog

8T & aat feou fapur| :

1) <dEwdtesze .

@ swew

(3)y dHdtaezs

4 dHweryr



134 Wioh pait amfmﬁ msmmm boad  134.. feyrar, = farasr S @8 w8=T ¥R 18-
pressure? | 1T ST i g TEnl g - T E"WW&I ~pnimiton (T v0
(1) Cerebfum -2: WRLED th (1) - AdFn SRR
(2) Medilla: - WARLEL i @ AFE e BLEES
(4)_ }gyg}gtha:lamus T T 2oty g

135 Which kind of plastld 1S more com~:mﬁewers and
(1) Chloropliasts Lo 3 {7
(2) Leucoplasts - .~y wr v T o T, AT

RN L
(3) Chromo plasts S (@) O .
4) Proteinoplasts’ ' rE i @ ':__ﬂ'“" _ -

136. Excretory c;fgaﬁspresent inannolids .0 (% 136. Wﬁ?f&ﬂ? H famivar wigr ﬁm@ a-g ?
(1) Flame Cells (2) Lungs G (1) mﬁs (2) 3F
(3) Ncphr]d}a (4) Kidneys (3) ?ﬁaﬂw xR e

137. Proteing’ are synﬂ@snzedhy\whlch part in the cell? 137. ¥® é‘ Hreg q‘é‘l?’;ﬁﬂﬁ‘ﬂé' ﬁ:ﬁ@? G
0 Elfld h Lysosgmes () iemles @) wERRY
(3): Ribosomes (4 .. Golg{apparatus @ T o ae it

138. Glucose is mainly absorbed i in whlch 1part of kidney?
i 138. @HE‘ I"q'aa ﬁ‘m fa? 'g_'lmﬂ GELEEACAN
Sy Tidatconvoluted tculnflleU FyesigmEsiaTe 3\ }_;" E eﬁ?ﬁg HESH

2 LoopofHenléf"v“‘ e

(3) Proxlfnal convoluted tubule\ 3) 3 m Wﬁgﬁgﬁ@g

(4) Bowman’s capsule SIS
395 Gmesaremaﬂeof ¥

()= Llf;uprdtems

=1 Jiéét“#ﬁ-ﬁ-%’géﬁﬁé'#“'"“;”;"“_” i F " J“'

e

: E 1
(2) Hydrocarbon' RS EZ; e
(3) Hismers e S SEEREN

{4y Polymucleotides: o5 ST U EE T o Bel (7 gy (OURH f};aai@?ﬂ‘ﬁr util

140. Selestthesst Oiaﬂa_f'@&w’awﬁﬁ@ﬁtthﬁqltowmg " 140. I5 W’féﬁ'm@’lﬂ W B’Tg@raﬁ' TR
(1) Forelimbs of fiogand lizard . (1 (1) égn@m%mfm Bl
(2) The wisigs of bat and wing of abiird 7} (2) SHiIEE w3 iel @4y
(3) Forelimbsof birdand humianss™ 77 ¥4 o501 3) St iy E nEd JE

o

(4 Forehmbs of cow ana duck : " (4) T 9§38 @- m ua foeck Lt

141, if /512 2X J1562 =5” and «/343 T a1 & 512 =27, ,;‘_-171562 — WS \/34 ?=

then whatwﬂl be the value of X - y+z'?
Foreurt neg I T U UST AT A=y +2 7

SO 6 w4 @) Guiis L0E
O R IR R i EE L SOP SO JRSHERVRREY ! A S
142. lfa+b=1thenwhat_:_:\asi?gllbethevaluec_if__{ . 142, FaF a+b=1 a-q:-3+aﬂ+b3 +3abET)-rB'Eﬁ
a’+ b* +3ab - ! J<ar? waln RS
(15 D1 | (1 3 @ 1
(3)3 e 40 o i 3y 3 .%o

Ve



143. The circumference of a circle exceeds its diameter
by 270 cm then the length of its diameter will be
(1)252 cm (2)126 cm
{3)31.5¢cm (4) 63 cm

144. Anumber when divided by 6, gives remainder 2 then
what will be the remainder if square of that number is
divided by 6.

(D1 (2)2

(3)3 (4)4
145. Find the value of 07 42 7?

(0 34 (2)2.77

3 36 435
146. C

370 X
—+ }
A B D

In the adjoining figure AB = BC, BD = CD and[BAC =
37° then what will be the value of x?
(1) 32¢ (2)74°
(3) 106° (4) 34°

147, Find the sum of all the integers from 1 to 100 that are
divisible by 2 or 5.
(133000 (2) 3050
(3) 3600 (4)3100

148. Find the value of xy if(1,2) (4, y), (x, 6) and (3, 5) are
vertices of a thombus taken in order.

(1)6 (2)9
(3)18 (4)24
149, Evaluate : 61-J6+. ________ .
(H3 (2)2
(3)6 41

150.Evaluate :
COS*5" + CO5*10° + COS*15° + ..+ COS*90°

N

1
M 8 OF

1
Sy @9

",
\n

143. e Saw ur T fow & fewrw F 270 w3

3t fere foum e Sat 329t
(n 252wy (2) 12689
(3) 31589 (4) 63RN
144. fed fifywr § 6 5% &3= 3 2 vt W@ §
I Qn Afewr & 9w & 6 avm Fwe T fGwr
Hal mragr
1 1 . 2 2
(3) 3 4) 4
145. 07+27 EEBYIT AT ?
(Y 34 (2)2.77
3) 36 435
146, C
370{{— . X
A B ' D

&% {83 a1 999 f<9 AB=BC, BD = CD»3{BAC =
37° F I x o i ygr 39

(1 320 @ 4
3y 106° 4) 34
147. 1 3 100 I3 §I5" At fryas Afewrer or
HIRE UITII H 2 A 5 5% IvHGEr I
(1) 3000 2 3050
(3) 3600 4) 3100
148. xy ' ¥ U F9 799 (1,2), (4, ). (x, 6) T (3,
5) gH &9 fea megegw & fmig 3=
(D 6 2y 9
3 18 4) 24
149. H& 3T J3- :
- VO
(1 3 @ 2
3 6 4) 1

150. H& uIT G-

CO5*5° + COS*10° + COS®15° + ...+ COS?90"

1
(1) 85 (28

1
(3) 95 4)9

24



151. A cone of height 24 cm is divided into two parts by  151. 24 AW Gurdt @8 féwr g & fere gg @ WU

drawing a plane through the mid point of its axis and firg f9° wrrg € I fiw 35 575 © RIfar
parallel to its base. Find the ratio of the volume of two &g gfen famrr 91 €< ffear @ wiriEss o
parts. WIZYTT UIT 4 |
(1)1:4 )17 (1) 1:4 @ 1.7
(341 H2:7 (?) 4:1 . (4? ‘a 2}; ?_c §
b oo 152, FEF1960=20 30 7°GF I 2T STRTHS UTT
152.If 1960 = 2* 5* 7° then find the value of 27 7" 3 -
(3)7/2000 (4) 56/25 (3) 7/2000 4) 56/25
153. In AABC, D is a point on side BC such that 2BD=_ 153. AABC fé9 g BC '3 &% fag D fow 397
SDC. If aAABC) = 49cm?’ then ar(AABD) = ... Afeg 3 fa 2BD = SDC J1 7T ar(AABC) = 49
(1) 28 e (2) 21 en? M2 9% 3T ar(AABD)=......
. () 28m (2) 21 M
2
154. A natural number when increased by 6 equals 280 154, fér yfgga fifnr &9 ¢ A3s I feg vuE
times of its recprocal. Find the number Qe & 280 JT © wmg I Awt I Fenw
(1)20 )14 U™ T |
(3)-20 @6 M 20 @ 14
3 -2 “4) 6
155. If a= 2, b=3, C= 4 then find the value of 155. AT a=2,b=3MT C =432 3" T U=IT 59
ab+bc+ca-at -b* -¢’ ab+bc+ca—a’ —b -c
3gbc—a’ -b ¢ 3abc—-a’ —b* ~¢’
(178 2)9 . (1) 1/8 2 9
(3)8 @ 1/9 .3 8 4 18
156. In a two digit number, the digit at ten’s place is three  156- @ et et fea fifipr o woTe e @R fearet
times the digit at unit place. The sum of the number wa e fager 1 Aae fen Ao w3 fere
and the digit at unit place is 32. Find the numbers. fearet Ha & 77 32 3& 3t ffewr UIT G|
26 (2)31 (2 @ 3
(3)62 (4)23 (3) e @ B .
. 6 : HUH™S Hag
157. Mean of 8, 12, 16, 22, 10 and 4 is 12. If each 157. 8,12, 16, 22, 10 7is 4 STHATS 12 91 7o
. ) ) I QuT T HS 254 O fdgr A€ I &=F
observation is increased by 25% then resulting mean is < == :
HOHTS J=4dIf |
(1)9 ()15 O 9 @ 15
(312 @16 @ 1 4 16
158@'\?\;1‘1:;;]; of the following can not be the probability of 158. I fwfuwt (59 fooat faw ot ¢
' &It T At ?
5
(y = 2) 095 5
/ M 3 @ 095
3) 7% ) 2 18
¢ 7% @ 7 | (3 ™% @ 5

25



459 rgivérrfigure, EB anit DA ure perpendicular to.AB,

e RIE0E *=Somr D= Jenr. and: HI(ABGE)a—\lSO cm’

N s R | S

(1)294 cm? (2)210 cm?
(3) 150cm? (4) 324 cm?
160 In the given figure, PQ is the diameter of the circle. If
B PR Scm and QR 12 em then find the area of the
shaded region. '

(1) (257 -30) em?
CED TRl (e T

D@67 30) e

(3) (169 7 -30) cm? (4) {_.1—62;rm30)c,m2

161. What is the lat:tudmal extent of Indla'?
(1) 4° 8'N to 3?° 6' N

"g@ mmm&m

NS TR
162. Sardar Sarovar ,Dam is bu11t on whlch Onc of the

follo“nngnvers‘7 _;' C [0
...... {1} yam}ad’a"‘ =g ‘\. g (2’) \JTa'pi‘,

‘r‘cﬁ(& ﬁ‘ﬁﬂg& ThOoTTE Rn = '(4)_ = Sgﬂuj T

163. Which one of the followings h@&-been dgclared the ~ 7o

Union Territory (U.T.) by Government of India

recently? . ; .
CFE(EY Bhopat T T 42 Jradakh el
(3) Gangtok (@ Kerala

164. Marble isa ——

(1) MetamorphicRock '~
(2) Igneous Rock

(3) Basalt Rock™!

(4) Sedimentary Rock

@) 100333 3 4006%3

159, I IR NIRRT EBwT DA, W5 AR
- &I I519.0F = 5 AM, OD=7AM WT ar(ABOE)
7150 M3 ar(AAQD) =

210 AHe
24 M

) 2mame Ty

(3) 1502 - (4)

160. 83 aF f¥ge &g PQ Ja9 @ fim femrm I

.. AE3 PR =:5 AM M3 QR = 12 AN T 3 =fomr
Higz-gar Tr EIdES Ut AT

() Q5z300Me () (367 -30) Br

(3) (1697 -30)M* (4)(—4-75 =30) mp
I PR

() 48833 F376¢ F9

@ P4 IT6 Y

BaE T o

161.

162. mwmmmawm
;(1). BIHET (2 It
@y . Far @) wIBA

163.

é?a‘rmu@ﬁwe? Wﬁwm
ey L2y weEY

(3) émﬁa' - (4 a3
164. Fanvve Ra§- H

(1) ud=afag S5

@ wEBrI¥Ts

(3) wmsTes

4) Sfoee s



145 R ziranga Sanetudryis Sinddtéd in whle.h one of e’ 165, EwavaTAeshHte aT-b fefian fS8 f&'-.lﬂ’

following séates 7 - R o f&9 Afag 37

(1) Haryamd=  ‘k2) © ’"‘Himacﬁé‘FPradesh (1y ofewzr: ) foresyEd

O Asam W R T 0 @ o )
166. Matc?ihéifo‘llowmg,— 166. flb‘ e gy T S

(i) Iradf '-"fi‘-&ﬁi r r, a. Digboi ‘ _ @ AR : }'-(.a) F- .'- ﬁﬁ

(i) Coal ‘& 7 ¥ B?“‘S’ihghbhum - (i) 6‘!"&“’ ;._-».,,15 (b) W~

(i) Manganese c"'rBiﬁ'g'héf iy SRR cﬁ"”"%r&um* -

(iv) Oil &Iﬁaﬁlgﬁﬁj B @) % ( d) e

(1) (i, (i), ()b, v © - () ()d, e, Giyb, (vya '

@) (b, Gy, GidTtR 0 T @ ()b, G, D4, ()4 )
& @ADL IR & i TR T (3) (i), (i), (m).c, (iv)-a o

@) (ia, ()b, (fi)c, (VA nurns 55 w8 @ (1)-8, (u),b (m)_c lej _d:-'_‘- ) Ao

167. The Dried.and flat area extendiag fiom southten part
of Punjab.angd Haryana to the Raanof Kutch |5,1~;nown

5B SUF fr =5 TETRG EBE H AT0H TRl (NI
(l) Tha Thar Desert _ R ‘-5_],._}\-1':,” Toestd '-E'}
(2 The Azavali Hills, EUBEH (4
(3) TheHimalayas,. rEE i
z{4) . Tthogﬂlm}plam‘ S T 5 wEE eTr . Ceitd o3 T
168. Which ene of ﬂwfellowmg states receivesrainfallin - 168. 5 {&finit S fags ov f&g madtwt & A
winter season f&g gaur gt 97 '
(1) Punjab (2)  Uttar Pradesh () UHy 2y €39 yew
(3) Gujarat (4)  Tamil Nadu (3) AT 4 Shssg
169. Whl(‘;}l one of the following states produce more 169, Iz fefonr 55 faoeht woe dt o Gaures
Cotiee? | AT T <@g geet 37
(1) Karnataka (2) Andhra Pradesh (1) aEEes @) e @
(3) Tamil Nadu (4) Madhya Pradesh i

(3) BT 4) I
170. which one of the following countries is not a member N - ( 5 R '
of South Asia Associated of Regional Cooperation 170. ¥ fofer (&5 fagar 87 duT Ert EEL

(SAARC)? Hhﬁmm(m)?ﬂ'aam’fﬁ?
(1) Bhutan @2y India n g 2 3T
(3} Nepal (4)  China 3 3?3 @ 5
171. What do you understand by the term ‘Loo’? 171. ‘T Fge F T A T F7
(1) Sea breeze (I) wredt U=
(2) Land breeze (2) MmET U=
(3) hotand dry wind (3) 9H M3 YA i=
(9 coldwind 4y &FdT
172. Which Viceroy made Delhi the capital of India in

172. fom =feRe® & 1911 ¥, few &8t § 993 &t
FHaH e
(1) ®IF FIAS
() woFfesmifea
(3) &9 gasr
(4 ®IFwEe Ies

1911 AD.

(1) Lord Curzon

(2) Lord William Bentinck
(3) Lord Hardinge

(4) Lord Mountbatten

27



173. In 1519 A. D. Zahir -Ud — Din Babar was the king
of —

(1) Kabul 2) Fargana
(3) Afghanistan (4)  Kandhar
174. When was the battle of Samugarh fought?
(1) 1658 A.D. (2} 1659 AD.
(3) 1657AD. (4) 1660 A.D.

175. Which Guru Sahib composed ‘Thit’ bani
(1) Guru Ramdasji
(2) Guru Amardas Ji
(3) Guru Angad Dev Ji
(4) Guru Nanak Dev Ji
176. When did French troops Land in Vietnam?
(1) 1856 AD, (2) 1854 AD.
(3) 1858 AD. 4 1830 A.D.
177. Print technology of China was brought to Italy by the
great explorer —
(1) MacroPolo  (2) Vasco Da Gama
(3) Columbus (4) Magellan
178. During India’s freedom struggle , which one of the
following ied to the first *All India Hartal’
(1) Protest against Jallianwala Bagh Massacre
(2) Protest against Rowlatt Act
(3) Arrest of Mahatma Gandhi
(4) Arrival of Simon Commission
179. On 31 Janvary 1930, Mahatma Gandhi sent a letter
to Viceroy Irwin stating ~ demands
1 10 (2) 11
(3) 12 4 13
180.Nationalism alignd with factor led Eurbpc to disaster
in1914
(1) Liberalism 2) Isolationism
(3) Imperialism  (4) Non intervention
181.When did Shiromani Gurudwara Prabandhak
Committee to be in existence
(1) 16 November 1920
(2) 14 December 1920
(3) 18 November 1920

(4) 29 December 1920

182.In which year Neta ji Subash Chander Bose passed
the ICS examination

(1) 1919AD. (2
(3) 1921AD. ()

1920 A.D.
1922 AD.
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173.

174.

175.

176.

177.

178.

179.

180.

i81.

182.

wdt-ge-dts o697 1519 ot foy 7¥8 o gEa

() ags (2) @3arsT
(3)  wRIrfeFTs @) &ury
ATYETE ¥ 9 JE Jfenr-

() 1658 %% (2) 165979t
(3) 1657¢t. (4)  1660¥%T.
‘fag’ fan 1 wrfows & oat 3-

(1) T v A

(2) T "R AL
(3) T e T
4 99 Fam &< At

T e & ufgst =9 fengsy S waat 3
a7 e Yfomr-

() 1856+t (2) 1854 %t

(3) 18s8¥t (4) 1830%t.

fom v &7 wgsT e e ©t iz et
& feest fonrar famr-

(1) WFau® (2) <HE FT T
(3) aBYE 4y NS

93 ¥ HII9I" AT S97s I3 (Bhewr fed
fogs ufost ‘Fae o7ast 923 o v afowr
(1)  Afewresy agr dfomwr gva fefo sess
(2) Bz wae iy ows

(3) I grdt < foregTat

(4)  AENME FfHEs e 9T s

31 A& 1930 . § varawr avdt & eienss sam
feafen & o faw ....... gt b U sftebo
(h 10 @ 1n

3 12 4 13

IHEITE dSAS T faTET a9s Fauw & 1914
et. feu gt 3= & fapur-

() THedTE 2 fedwsgeae

(3) AMEHITT (4 FHaous

Y IITwT yiae et aF e fé e
(1) 16 3293 1920

(2) 14 ©HET 1920

(3) 18 99T 1920

(4) 29 THET 1920

&3 H §9H ¥od A7 & faw A et /.
(1CS) &t ytfepyr yny Gist-
()  1919%t. 2
(3) 19219t (4)

1920 &T.
1922 gt,



183.The constitution of India was enforced on :
(1) 26 January 1949
(2) 26 January 1950
(3) 20 January 1948
(4) 28 January 1930

184. Which chapter includes the fundamental rights of the
citizens?
(1) Chapter 3 (2) Chapter 4
(3) Chapter 5 {4) Chapter 6

185.Total fundamental duties includes into the constitution
are :
() 10 (2)11
3) 12 413

186. What is minimum age to become the president of
India: ‘
(1) 25 years (2) 30 years
(3) 35 years (4} 40 years

187. How many members President can nominate in the
council of states ?
(1) 8 2112
(3) 2 (4) 10

188.How much delay the council of states can cause in
the passing of money bill:
(1) 14 days (2) 20 days
(3) 25days {(4) 30 days

189. The judges of the supreme court retire after completing
the age of:
(1) 60 years (2) 62 years
{3) 65 years (4) 70 years

190. Who administers the oath of office and secrecy to
the members of union council of ministers:

(1) President
(2) Vice president
(3) Chief justice of the supreme court
(4) Prime minister
191. How many members are these in Punjab legislature
assembly?
(1y 117 2)119
(3) 120 (4) 122

192.The electoral college for the election of the vice
president inciudes: '
(1) Lok Sabha
(2} Rajya Sabha
(3) State legislative assembly
{4) Lok sabha and Rajya Sabha

183,

184.

185.

186.

187.

188.

189.

190.

191.

192.

29

97 o ffews aF & FI ferrr?

(1) 26 AGSIT 1949

(2) 26 AG=Et 1950

(3) 20 A& 1948

(4) 28 A&=dt 1950

satfaat & Nfea witare fifegrs & fan wime
fegmfiz o5 ?

(1y e 3 (2) fane 4

(3) wfgwE 5 (4) e 6

tifews f&g wive Hisa dgde < foest fast
I?

(n 10 2 1n

(3) 12 4y 13
THSIUST € My wEt We e f&at S oatet
T

() 2578 2 307

(3) 3I5HF (4) 40 '
THEIUST aF AT fe9 &S W AT ad
Aaer 37 '

(H 8 2y 12

3 2 (4) 10

FaneT, U5 s 2 U I &9 &3 mi et &t
ur FEer J

(1) 14fes 2y 20fes

3y 25fes 4 3ofes
Tudhiage & ¥+ faat e feu foerfes g€
957

() 60AT (2) 62F%
(3) 657% 4 T07H
fuit fradt ufgre & Hest § mig® w2 Aeaar
v quZ % 7 & Ay dT ger 37
() THIUSt

2 By oHewst

(3) HUIH ICTTHY HH

4 yus oI

e o feos rer € &% &8 Aeg a5 7
(1) 117 (2) 119

(3) 120 (4) 122

Sy Fzaust €t 4= wut fanfag ST ims fev
s -

() SanAg

2y T feos Ag=r
(3) THHI

(4) BIAFT I IH AT



193. Whicli type GHiestifieliFls passed STthevolamesll 193, I3 fahsf=d fssmiat foroah favms maw

profitand income?  CLo fEFET on
(1) Antenomous Invesl‘meﬁ TEAW 21 i
(2) Induced Investment®© : N "
(3} Net Investment
Sy o inv st Ny
194. Rahul installed computerized machinEiFhis Fctor ¥
Somé vidikersof his Fictory becmeinemploved due

to havifgHiB knowledge of conyputEtwhich type of

|J-
l_i..’

£
LA

02 TTEGF BT 143

CrE s e
o “r—i!!'r( o BT ST

mdRpRament B s F S THR T s s as
(I) Seasonal unemployment e
(2) Disguisedunemiployment ¢l th
(3) Volunteériuneniployment Sf Ty
fogye Beapniatiminployients T & foussas a5

195. In which state of the India has maximum pdpilation
under pmﬁne? (0 THEL (D)
(1) BiRafF O (42) Puiias 25 i

*?{mamm EB @ EHaREmdSUES TS

196. Which Co-operative Society sells nfitk ﬁﬁﬁcts in
Gujarat? Z° {73 a e
(1) Amul {2) Verka = i

(3) MotherDairy "4y  Sudha —~

197. Name the Indian who won the Nobel Prize in
Economics.

(1) Dr. Rajindra Prasad
(2) Rabindranath Tagore
(3) Mother Teresa

(4} Dr. Amartiva Sen.

198. In India which means of transport is considered more
cheaper and better?
(1) Water transport
(2) Airtransport
{3) Railway transport
(4) Road transport

199. What are called those industries which produce that
goods that are used for the production of other goods?
(1) Capital goods industries
(2) Inter mediate goods industries
(3) Basic industries
{4) Consumer goods industries

200. Find growth rate in India, if per capita in 1996 is
Rs.8000/- and in 1997 is Rs10,000 in India.

(1) +80% (2)  +20%
3) -20% 4) +25%
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